EA: W=SXAHE
HH: U= MM (Sl So/aid4 - OfE)
©el: XL 2 A7

ol L g

2A -3 -c(3) - MEAY - HES Off &4 0fl & oH Hus2

=B X2 HlE 7,489,123 4,052,022 3,437,101
= 1,085,500
< 6,403,623

U8 UE (oSS /oSaa - HE) 602,457 685,900 283,443

Az ¥ AN 356,057 329,600 26,457

o -IHJF SXHa 253,600 253,600 0

201 B2 8,000 8,000 0

01 AtR22/H 8,000 8,000 0
OB AE XM 22l & P2 8,000

202 Ol 7,200 7,200 0

01 =LHOIHI 7,200 7,200 0
OO -7 SXAA HRFA bl 7,200

204 Z R+ FH| 8,400 8,400 0

03 EFY LI 8,400 8,400 0
ougSHI 50,0002 *14E =128 8,400

206 X = Hl 180,000 10,000 170,000

01 Xz Hl 180,000 10,000 170,000
OYWEO SX7Y X YHolMHE P 180,000

207 S FOH | 30,000 200,000 A 170,000

03 Al& A 2 30,000 200,000 A 170,000
OO - T SXAL AIEHR 30,000

401 Al ZHIX 2 OHHI 20,000 20,000 0

01 Al&HI 20,000 20,000 0
OEXMAAL ZH |SXES 20,000

W8S AIEAR 58,457 32,000 26,457

101 2124 d| 28,457 0 28,457

04 JI2ZHZ22NEE+ 28,457 0 28,457
OAMY &2RE 28,457

202 0fdl 10,000 12,000 22,000

01 =LHOIHI 10,000 12,000 22,000
OUl =8 AEST ARFX Ol 10,000

207 AFoH | 20,000 20,000 0

03 AIE & 24| 20,000 20,000 0
O1LRE SXML AIEHT 20,000

EMUE X0ER 44,000 44,000 0

206 M =l 20,000 44,000 224,000

01 M= b 20,000 44,000 224,000
OZHOIME & HigtME e 20,000
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2 A

USSR AE

Y 40 NRES(STHSSA/HSSA - 0fF)
G U|XTH & AN (SHe: & 9)
SN - HH . O9(BH) - HRAY - BES Ofl Aot fn H@S2

207 o0 d| 24,000 0 24,000

03 AI& 32| 24,000 0 24,000
OEMUHE XHYRE AEAHR 24,000

AN FIae 246,400 356,300 A 109,900

HAI2H 230,400 305,300 AT4,900

201 LEt23H| 156,400 154,000 2,400

01 AR &2lbI 34,400 32,000 2,400
O A2Y sX2el 20,000
OHdE HIIGHMEAHUAMS 14,400

02 B324Hl 122,000 122,000 0
O&AM24dH| 12,000
OFAMN2Y |22 110,000

202 o4 bl 5,000 6,300 21,300

01 2 LHGIHI 5,000 6,300 21,300
OEMAE SIS HRFX Ol 5,000

401 Al EHIZX LY 45,000 145,000 A 100,000

01 Al&HI 45,000 145,000 A 100,000
OFEM AN B .82 45,000

405 X&HFE S HI 24,000 0 24,000

01 XIMYEEFSHI 24,000 0 24,000
OZAH Wetd| ¢l 9,000
OSTHMAIE AMAEM)| ¢ 15,000

22X 29 16,000 51,000 A35,000

201 LBt 4| 16,000 16,000 0

02 222gH| 16,000 16,000 0
O2EXE FFH| 11,000
O HHISRX & A2E ¢ 5,000

WM OASH(sENSS=A/a YA O E) 5,647,910 2,167,860 3,480,050
= 1,085,500
== 4,562,410

W8 o4 5,647,910 2,167,860 3,480,050
= 1,085,500
T 4,562,410

W8 ASI|B RHF 1,051,260 875,360 175,900

202 i bl 8,800 8,800 0

01 =0 HI 8,800 8,800 0
Ous+HH YRF& ¢l 8,800

308 XtXIHMSOIA 481,360 401,200 80, 160

01 IIXSHHBAEZTZ 481,360 401,200 80, 160
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A W8] NE
HE: UM oS (sEHSSA/HSSA - O E)

B9l 48 0S4 (Er91:®R)
SA-HH . G (3H) - NSAY - BaS Ofl Aol e H@S2
OUx0 2AAE AIZRLH| X 48,000
OUis+=3 EBENS UR 135,360
Ou+=3 o&E&3d Ha 60,000
O LA THESE 13,000
OMEN A et Y 2EUHS =04 225,000
403 XA XISHHSXH=0lE 561,100 465,360 95,740
01 AXISHAEEX 561, 100 465,360 95,740
OE+0 LA XISt N 80,000
OU+=3 LAZ XA 90,000
OR+4A LAZF XEH HaHelAld 12,000
OUiz=3 =F0& HZEHI 16,000
oU=+=% YsH&E1D Ald 26,100
OR4HA M - 0RES BE2F 20,000
OUl+=8 C-SAAZ EHUG A& 180,000
OUBIAIA 2SAIL 48,000
OLAZ HEH 22| ANAEH RH 75,000
OU+=Ci0igol otd NHZ2ES JIsd P
X 14,000
=S =AST HYLR(HE) 630,000 0 630,000
308 AtXIHHSOIH 630,000 0 630,000
01 AIXISHBAEXZ2 630,000 0 630,000
OU =0 £AEX HUUR(HE) 630,000
W48 O{HMA JIBIAI L (X&) 2,460,000 0 2,460,000
403 XXM S XH=OI & 2,460,000 0 2,460,000
01 AXSHA=2EX 2,460,000 0 2,460,000
OUI &= O{YMAH D|BIA| L (X&) 2,460,000
28 SAIE B2 (HS) 175,000 0 175,000
403 A XISHSA=0lE 175,000 0 175,000
01 AIXISHHEEX 175,000 0 175,000
OUH YAIH SHINL(HE) 175,000
HEINELSAIYS(2D) 162,500 487,500 A 325,000
= 125,000
= 37,500
403 A XICHH S XH=0| ™ 162,500 487,500 A 325,000
= 125,000
== 37,500
01 AXSHA=EX 162,500 487,500 325,000
ONEIMES=AMY 162,500
= 125,000
== 37,500
A XHARHRE AN (=21) 650,000 0 650,000
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A LSS TRME
B 42 OASH(SHHSL/HYSL - O E)

&@Hel: W8 oS4 (9 &H)
= XH (=1F8 - =] =2 OH 48 & =2
= 500,000
== 150,000
403 XIS SAE0/E 650,000 0 650,000
= 500,000
T 150,000
01 AXISH X2 X 650,000 0 650,000
OU =8 HONHAMBE ZLAIY 650,000
= 500,000
[ 150,000
202 A (Z1) 395,000 0 395,000
=2 350,000
< 45,000
403 XM SA=0/& 395,000 0 395,000
=2 350,000
= 45,000
01 AXISMRESE 395,000 0 395,000
OZ 02 THAA 395,000
= 350,000
T 45,000
L2 cI3atetE &X(21) 50,400 0 50,400
= 48,000
T 2,400
403 MHXISHHSA=0/& 50,400 0 50,400
= 48,000
< 2,400
01 XX SH 28X 50,400 0 50,400
Oui#=9 o 3aetd AX| 50,400
= 48,000
< 2,400
GAZ XEA UK B2 ¥ E422(31) 73,750 0 73,750
= 62,500
L= 11,250
403 XX SRS AHE201E 73,750 0 73,750
= 62,500
T 11,250
01 AXSHA=2EX 73,750 0 73,750
OLAF EHHyE YA 73,750
= 62,500
< 11,250
HY2A AL (HSHIRAMDE)(IIEHIIE 1,238,756 1,198,262 40,494
ol 23| 1,167,204 1,117,970 49,234
S2& oYl X 948,202 942,502 5,700
101 21 4| 915,862 912,682 3,180
0124 915,862 912,682 3,180
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EA: WS HE
B ISR (4B HE)(IIEHIIE
HGe: olE 29| (&)
S -EHS . o(3H) - HSAY - BES Ofl Aol %g% HRS2
oJ1=3 723,120
os=2 680, 169
- 164,760
= 87,373,000 * 1 87,373
- 52 77,387,000 %1 77,387
-l BHE 515,409
6= 4,151,533& x3%H x 128 149,456
- 72 3,203,600 62 x 128 230,660
- 82 2,502,000 x2S 128 60,048
- AL 3,135,200 22 x 128 75,245
(OF ==y 515,407,200R *x1/12%50%*28| 42,951
(OE3=] 98,586
OsE=e 11,520
- 2 X+ 40,000 x 152 %128 7,200
-2AIIE 20,000 x92 128 2,160
-REAINF(SEMAL) 60,0008 32 x 128 2,160
OstH|BE x4 3,688
-NS8M "460,9009! x2%H x43| 3,688
(OF- == P = 16,560
25 0] A 130,000 *6H x 128 9,360
-20~25t 0] & 110,000 »42 128 5,280
-156~20 0| Bt 80,000 x22 128 1,920
Ol3R:xE 26,761,800 *4. 1% 128 13, 167
ORIg224+g(2E) 50,000 x1H 128 600
OfIg22+Z(YE) 40,0008 1 «128 480
OJesdExE 3,360
-4= 50,000 *1Hx 128 600
-5= 50,000 x1H~128 600
-6~72 30,000 x4H =128 1,440
- JE=EBLEY JIZ2(FHIJIR)
10,000 *2H 128 240
- JI&dEESY JRIS2(RASIHZ)
20,000 x1H~128 240
-8 20,000 * 12 =128 240
O YgRLY 80,000& x2H x 128 1,920
OAZ2 =& 10,509 x 15H 25 A| 2H+ 128 47,291
OYEE I
515,407,200 *1/12%120%*50%*28] 51,541
OAUZAH| 130,000 x15% 128 23,400
O%IIE Al 19,215
OdEH(42)
87,373,000 *1/12%78%*1/30% 12 2,272
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=

U3 HE

;é*_ﬂi HYE2AAH(WS=HIKHE)(IIEHDIE)
el ol 2 | (Sl &H)
SA-EH .S (BH) - NSAY - BAS 0fl At ot Ga5 HRE2
OdEH (52)
77,387,000 %1/ 12%84%1/30* 12 2,167
OsSH 515,407,200 *1/12x86%1/30* 12! 14,776
204 LA H| 32,340 29,820 2,520
02 228 x| 32,340 29,820 2,520
042 400,000 * 12 %128 4,800
052 250,000 x 12 128 3,000
o6=2 165,000& »32H x 128 5,940
o7 155,000 x6H x 128 11,160
08~9=2 145,000 2 x 128 3,480
O A 165,000) x2H x 128 3,960
SAHAAE 2 2| 183,012 175,468 7,544
101 Q14 H| 183,012 175,468 7,544
03 2JHL=2 2N ES 183,012 175,468 7,544
OAY AR 183,012
Oo=20¢ 2,275, 125@1x4H 128 109,206
Ooaz2x 2,275, 125@ x50%*4H 23| 9,101
Odxra&IIY 92,480 *4H 15! 5,549
OAI224Y
11,5603 *150%*20 Al 2t x4 122 16,647
oJsse 3,600
~bHi < X+ 40,000 x2H x 122 960
-22AII=F 20,000 *x32 x 128 720
-2AINF(SMIS) 60,000 x1H 128 720
=PI (PIED 100,000 12 x12& 1,200
OY&E&IHI 2,275, 125@ x50%*4 H +23| 9,101
OFUZAH| 130,000 x4 » 128 6,240
O EH| 100,000 x4 » 128 4,800
OYHARLZ(4UEER) 1,200,000 *128 14,400
OgYR =504l 30,000 x4 *x303] 3,600
O=1=1:]] 8,000 x4H x4 x 128 768
HFAR2Y 2 22l 35,990 0 35,990
101 214 HI 35,990 0 35,990
03 RIAHA=2 2R E % 35,990 0 35,990
O&EAMN A&22& 35,990
o2y 1,981,350 x1H 128 238,777
(OFF=Ed= 1,981, 3508 *5%*23| 199
O8I 81,200 x15&! 1,218
OAZt 2244
10, 150 *150%*20 Al 2+* 128 3,654
OY & &Ity 1,981, 350-& *50%*23| 1,982
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SN U4BIXR ME
Hz: HYESHAH(USHTRME)(IIEHIIE)
c©el: oH29 (et d
SN EHE . OP(3H) - MSAL - BES 0 &b L HRS2
OFUZAH| 130,000 * 12 128 1,560
OnsH| 100,000 * 12 * 128 1,200
OHYHARHES(4UEER)
200,000 x 19 128 2,400
J2&H| 71,552 80,292 8,740
2A29 JI2&| 42,492 43,652 21,160
201 LBEr24| 19,192 19,192 0
01 At 22|l 19,192 19,192 0
ORANE2YE AIR22lH] 19,192
202 O Hl 10,800 12,000 21,200
01 SLHO{BI 10,800 12,000 21,200
ORA2Y 22U 10,800
203 2 R F=AH| 7,700 7,660 40
01 J|22HPRFAHI 3,300 3,300 0
oA 3,300,000 3,300
02 HR_AINNMARFXH| 800 760 40
OB A= 40,000& x20H 800
04 EASHLRFZXH| 3,600 3,600 0
©202! O|st 300,000 x 128 3,600
204 X R4 AHH| 4,800 4,800 0
01 IR AY| 4,800 4,800 0
oAz 400,000~ 128 4,800
g 29 29,060 36,640 27,580
201 B4l 29,060 36,640 27,580
01 AR &2l 29,060 36,640 27,580
oY - =52y 28,860
OgA 4 E MHEH 200
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